b <«{ METAL

INSTALLATION USING

FREE STANDING POSTS

J=—=0 i §@®g@%§
Sy

o

; N




=
G=)
e

HL
l
|

2
Sy 2 vf — /L)

LaNVA

a2
=S
==
SV NS
- =gm)
> SN,
2
W ¥ o \J/%@K —
9 | ey | @™
(=Y A (S GG
= @ AT N
=B | 5505 Sallox
F %@@W T N
& o ® )




N <4
é E PARTS VIEW

M8 washer

M8 Locknut< 7

Post —

M8 washer

—~ M8 washer

M8 Locknut
-+— Post

M8 washer M8 bolt

M8 washer

M8 bolt QMS Locknut
Parts

Screen X1

Post X 2

% M8 Bolts x 8
@ M8 Locknut X 8
M8 Washer x 16

Metal Garden Screen Ltd.

Metal Garden Screen, Unit 2381
37 Westminster Buildings, Theatre Square

}){ 4}4 Nottingham. NG1 6DQ
‘ ’ Tel: +44 800 044 8412
> 4 Email: sales@metalgardenscreen.co.uk/

Website: https://metalgardenscreen.co.uk/
M E I A L REGISTERED IN ENGLAND
Company number: 9270750

Gardes Sereen
f ® © in =




